R . CAMPION SCHOOL. MURIB "
2 PRELIMINARY EXAMINATIO. }
Std. X Date : 04/01/2019 . Sub: B‘iolog;\"“, Tnve . 2 hours . Marks: 40
Answer lo this paper must be Written on the papcr provided separately: T
You will NOT be allowed to wrile during the first |5 minutes.
This time is to be spent in reading the question paper.
The time given at the head df this paper is t‘héhii_me allowed for writing the answer.
The intended marks for questions or parts of questions, are given in brackets [ | -
SECTION —I (MARKS-40) o
A tlempf all étie.ft‘i‘bh}"fn this section
Q1. A.Fill in the blanks: [Wrilc the entire statement and underline the blank] (5]

J- Stroma is the matrix of the . .. . as well as the spongy body of the
d Tunica extema is the scienlific term for-the outermost layer of the
Jif.  The fovea centralis is locatcd at the centre of the

~\dY.  The vestibular canal of the ear is filled with

QIZB. Match the columns: [Rewrite Column A and match with the right option from Column B] [5]

Column A Column B

i. JAA a.Hgh ~

il. Somalotropin _ b. Apical dominance.

1i1. Sperm c. Hammer

iv. Malleus d. Pesticide .

v.DDT === €. Male gamele

Q1. C. Siate true or false. If false correct the slatcrﬁcnl by changing only the underlined word/s. (5]

-C.
w The uterus is called the birth canal.
U Osmosis is termed as active transport.
Uif.  Transpiration is the loss of cell sap from any cut or injured part of a plant.
5.  The auditory canal of the ear is a vestigial organ.
i¥.  Helerotrophs are organisms that prepare their own food.
+ Q1. D. Cross the odd term out. State the category of the others. A [5]
U Auricle, ventricle, ossicles, auditory canal. Oa
@ Hypothalamus, infundibulum, oviduct, fallopian tube. L%§ .
ii. Mg, C,Na,H,O,N. Q5Fs
" gv.  PCT,DCT, DPT, LOH &gy
. Phototropism, chemotropism, hydrotropism, somatotropin. Q()? §‘:§ § o
. . e l O S Ry R &5
QI. E. Name the following: gﬁgﬁg [5]
i, The pigment found in the chorgid. QESFES
ul,  The pigment found in an RBC, S88 3
i, The pigment found in the red or orange flowers s =
§v.  The pigment found in the urine. -
~v. - The pigment found in the chloroplasts.
Contd..2
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Ql F Slalc tbc full forms of: g ekl g [5.]"-' i
L 1AI3A f“" ,u IAA, i GA3 fw' lUD FSH '. s

Qt. G Complclc thc followmg elalemcnls [Rcwme lhe slatcmt.nt] ‘ ‘[.5],“- o
TN Partunuon is the N R L
N Osmosns is the movement of

W A reflex acuon is a
\_)/ Hormoncs always acton
Vo ‘A genc 1s a specnﬁc sequence of

G oamy N e

‘Ql H Form 5] palrsyfrom the terms given bclow s [5)
Can;émcrc SC“. media, nepfiron, scal:llvcsllbull semcircular canals, chrorr‘osomcs cr&lo , '

| Mxmosnpudlca I sulm vanegal}d leaves, osrybsm, kufney, neuron, Petunia, scmlpcny& membrane,
cndowmph . '

SECTION 11
\ANSWER ANY FOUR QUESTIONS FROM THIS SECTION.
QZ/Klefcrenualc between the following based on lhc lopic given in the brackel. [5]
" . ,

- Stomata & hydathodes [Nature of waler lost]

A Ureter and utenis [Function]

Uit Seminiferous tubule & uriniferous tubulc [locatmn]

LJ"/. Cell wall & cell membrane[Permeability] i
\./ Insulin & glucagon[ Sou:cc of scc_:retllon] Iy .

.\
\
A

"

N

B. Give the f\mctlonakactmty of the followmg ' ~Thme S S (5]
Mltochondna : - \
Umblhcal cord:

19

_‘)J/

‘):f Retina:
LY.

D

Q2.

Stroma of chloroplast
RBC: .

_ L(‘/A pea plant that bears homozygous purple flowers is crosscd with a pea plant that bears-
mozygous white flowers. Answer the questions based on the above information. (5]

Uu”  What will be the appéarance of the progeny in the F) generation?

A3 What will be the appearance of the progeny in the F; generation?

1}}i/ What is the genotypic ratio of the F; generation?

U¥.  What type of a cross is this? Give a reason for your answer.

W, Whois the father of modem genctics? What was the plant be used in his research?

QZ/B Draw an animal cell with 6 chromosomes and dcplcl thc mctnphasc stage. Label the diagram
appropriately. o (5]
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Name the valves of the heart that are open & the valves that are closed. (2]

- I, f What sound would you hear jf the open valves closed? 1)

UH.  What phase of the heart beat would the heart be in when. the open valves would close?[1]

i Which chamber of the heart has the thickest walls & why? N

‘))5{ Given below is a table. Rewrite the table and completeit. . . . (5]
' Funclion

Hormone

- Production of milk

; Lic Reabsorption of waler in the

— nephrons

. Controls basal metabolism

© uUll.  Recleases extra encrgy in the case of
an emergency.

. Contraction of the uterus dunng

childbirth.
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QS%\ Observe the diagram :

)4 Labcl the diffcntnlz".pahs marked in the diagram.
W What is the process that takes place in this structurc? 7 ey TR
% Where is this struclure. spccnﬁcally located? . - o m

Redraw the diagram & labcl 2 blood vessels that arc not manked in this dlagram. : 1

Q6. A. Observe the diagram and answer the questions based on it:

Eqy

Nowdy dischaiged
ovumn (egg)
5 Label the parts marked in the dinéranI 2] -
ar Where does fertilization take place? [1)
: U{n What are the 2 hormones that relcased by *b*? SR : (1

If the egg released was fertilized and the resulting zygote was lhat of a malc what would be
the chromosome number in the zypolc? (1)
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Scanned by CamScanner



06. B. Two potato cups, one carved from a raw skinned potato and another carved from a boiled skinied

potato were sct np with a concentraied salt solution in them and water around them. Answer the questiong

bascd on the setup. : S e [5)
U; In which setup would you expect osmosis to take placc?
. Why docs one have to skin the potato before the experiment?
Al What would your observation in both the cases be?
U~ Explain how the principle of osmosis is used to prescrve fish?

DL What arc the terms used for the concentrated salt solution and water respectively.

Q7. A. Answer the following: [5]
\_)/ State the cranial capacitics of Autralopithecus and CroMagnon.
i What is meant by apical dominance?

i What are the 2 basic evolutionary theories?

UM Stale any two features of Homo sapiens.

\)/ _ Which evolutionary period or age had a prognathous facc?

ack strip of paper afier the plant was destarched.

Q7. B. A lcaf of a variegaled plant was covered with a bl
s. The leaf was plucked, the black paper

This plant was ther: kept in bright sunlight for a few hour
removed and ine starch test was co

P
- Y

" _ashlep arcos
“(ubseneclor!
X :hlorop_hyl_n; .

N MBI Bog‘éasam Utsav,
pei shop No. 1. Ran divali (&)
Thakut Villaue, Kan "
Murnal - 400 -
grcecn orag N n 3&3’{‘253{}5&
(presencé ol ™
g cldoroplh]ll):", SRR -
R TG
Ui~ What is the aim of the experiment? . _ . (1]
/ua/ Name any 2 variegated plants that you can use. ; [2} '
. ) 2

3. Redraw the leaf to show the result afier the starch test.
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